
e Reinforcing brace
 (for direct mounting)

e Reinforcing brace
 (for DIN rail mounting)

i Communication cable 
 with connector

r Seal cap
 (M12)

w Valve plate

u Power supply cable 
 with M12 connector

o I/O cable with 
 connector

r Seal cap
 (M8)

q End plate bracket

t Marker

y 7/8 inch fieldwireable connector

y Power supply
 cable with 
 7/8 inch 
 connector

EX600-ZMA2

This bracket is used for the end plate of DIN rail mounting.

EX600-ZMV1

Enclosed parts
Round head screw (M4 x 20)	 1 pc.
P-tight screw (4 x 14)	 2 pcs.

EX600-ZMA3
(Specialized for SY series)

Enclosed parts
Round head screw with washer (M4 x 20)	 1 pc.
P-tight screw (4 x 14)	 2 pcs.

Enclosed parts
Round head screw (M4 x 6)	 2 pcs.
Round head screw (M3 x 8)	 4 pcs.

EX600-ZMV2
(Specialized for SY series)

Enclosed parts
Round head screw (M4 x 6)	 2 pcs.
Round head screw (M3 x 8)	 4 pcs.

Series EX600
Accessories

q End Plate Bracket

w Valve Plate

21


